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MATHEMATICS AND SCIENCE

GENERAL INSTRUCTIONS

Examinee is directed to read carefully the following
instructions :

el & PR B ) s & v Rk R R sy -

. Examinee must write hiélher Rolt Number in the

specified box on the top left hand corner of this page.
Answers are required to be marked only on the
Computerised O.M.R. Answer sheet which is being
provided to the examinee.

. Besides filling in the Rol Number, the examines has to

put hisfher signature on the Answer-Sheet and also fill
other required details like Name, Roll Number, Question
Booklet code, eic. as indicated on the Answer OMR
Sheet. If these details are not filled in by the examinee,
hisfher Answer Sheet will not be evaluated.

. For each question, there are four alternative answers,

out of which only one is correct. Examinee must darken
the circle of correct option in the Answer Sheet by Black
Ball Pen only.

. There are 32 (28+4) pages in this Question-Booklet

including 1 page for General Instructions and three
blank pages for Rough Work in the last. In case
an examinee receives an incomplete or defective
Question Booklet, he/she should make a request
to the Room Invigilator to change the same within
10 minutes of start of the exam.

. This Question Booklet contains 100 questions from

following subjects :
(1) Maths Q. Nos. 1-50
{(2) Science Q.Nos. 51-100

. Each question carries 1 mark and % mark will be

deducted for each wrong answaer.

. Possession and use of electronic devices such as

Calculator, Cellular Phone, Digital Diary, Log Table,
Pager, elc., are restricted during the examination.

. Any leaf from the Question Booklet should not be

detached. After the Examination, Question-Booklet
and Answer-Sheet must be handed over to the Room
\nvigilator.

. During examination the examinee will not be allowed

to leave the examination hall till the END of the
Examination.
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MATHEMATICS

1. An umbrella has 8 ribs which are
equally spaced. Assuming umbrella
to be a flat circle of radius 45 cm the
area between two consecutive ribs

is (use n= 254)

28
cm
A) 22275

22277 om?
28

22275 - _»
cm
28

22279 om?
28

B)

C)

D)

2. Area of a sector of angle p
(in degrees) of a circle with radius R is

A)

2
720° (2=R) B) 720° 7207 ")

c) R) D) 3—&'0- (27R?)

p
360°
3. Atoy is.in the form of a cone of radius

3.5 cm mounted on a hemisphere of

same radius. The total height of the
toy is 15.5 cm, The total surface area

of the toy is (’1:= 22/7)
A) 214.3 cm?

B) 214.4 cm?
C) 214.6 cm?
D) 214.5 cm?

T

1. T B % W gt W & 8 uifeEi ® |
B F 45 |5, i Hw aren w =9
O I B3 ShiveR Tl 36 ofte 1 QG

§ (n-22)

28 .
A) 22275 ..
28

22275 5 oo
28 .,

\ 2222879 a2

B)

C)

2. fi R 9w gu F @ p (Reft ) &
O TS Tl 8§95 8

A) (2zR) B) (2=R?)

P
720° 720°

—(2n nR?)

© 3607 360

3. wReEmM 35N PRI F w g &
A LA aH B H s MR g |
R i g Sk 15.5 441, 3 | Reein
g g e (=25

A) 214.38.5.2
B) 214.4 @.#.2
C) 214.6@.1t.2
D) 214.5 % .3.2

c [Page o 3 3vD



4,

If P(E) = 0.05, then probability of
‘not E' is

A) 1

B) 0.95

C) 0.90

D) 0.75

A die is thrown once, the probability
of getting a number lying between
2and6is

A)g B)%
C)% D) 1

A die is thrown twice. Probability that
5 will not come up either time is

14

36

1

B) 2

C) 1

25
36

A)

D)

A bag contains 5 red balls and
some blue balls. If the probability of
drawing a blue ball is double that of
a red ball then number of biue balls
in the bag

A} 10 B) 5
C) 15 D) 20
HCF of 196 and 38220
A) 90 B) 45
C) 15 D) 196

C) 15

4. IR} P(E) = 0.05, & 'E 7 oW Fr ol d

A) 1
B) 0.95
C) 0.90

D) 0.75

5. UF T8 I W aR e a1 8, 2 36 &

e it s vy w0 e @
3 1

A) " B) 7
1

C) 2 D) 1

. U UTET &) R et ST § 1 5 % fwdt oft

TR T AR ) miwar
A) 14
36
1
B) 2
C)1
25
D) ﬁ
. GaATH 5am i s Fo eSS 19k
T OT <t i1 Y yben Fieft 7z & Preem
i sfrran gt 2, O 3 el w5
e R
A) 10 B) 5
C) 15 D) 20

. 196 3R 38220 F1 7.91.0. &

A) 90 B) 45
D) 196
3VD



9. |f HCF (306, 657) = 9, then 9. af w41y, (306, 657) =9
LCM (306, 657) is AN (308, 657) B
A) 22328 A) 22328
C) 22348 C) 22348
10. Choose the ratiofal number. 10. wfdra s 9T |
R 1
ANl YN
B) 7V5 B) 745
C) 6++2 C) 6++2
D) 7-/49 D) 7-/49
j1. Quadratic polynomial having sum 11, = e g & T A 3R
and product of its zeroes J2. 113 TOFRE F: 2 138 NTE®R
respectively is
A) 3x2 - 32x + 1 A) 32 - 342x +1
B) V2x2-3x+1 B) v2x2-3x+1
C) ~3x% + 3/2x+1 C) —3x2+3+2x+1
D) 3x2 + 32X+ 1 D) 3x2 +3+2x + 1
12. Thezeroesof 3x* +6X3—2x2—-10x-5 12. 3 + 63 - 22— 10x—5F A JE
3
are J_g_ and — \E . The remaining 3R —\E gahiEd
3
|
zeroes are Ay -1, 1
| A) 1. B) 1,1
B) 1.1 | ) 1,-1
C) 1,-1 )=
D) 1,1 D) 1,1

¢ " Page No.5 | avD




A

13. The number of terms in the 13. warT At : 18, 15%, 13, ..., — 47 B 4@
A.P.:18, 15%, 13, ..., — 47 + gem
A) 27 A) 27
B) 28 B) 28
C) 29 C) 29
D) 30 D) 30
14. How many terms of the A.P. 14. 636 1 IrT ¥ F FRrw Fuiaw Aoft
9, 17, 25,... must be taken to give a 9, 17, 25,... % i vg RIu sy =i ?
sum of 636 ? A) 10 B) 12
A) 10 B) 12
C) 14 D) 16
C) 14 D) 16
15. ABCD is a trapezium in which 15. ABCD U gueie 9gyfs ® o
AB || DC and its diagonals intersect AB || DC 3R 3o Tl weh qut %1 fiig
each other at a point O. Then O M ufr=de #W &, @
A) AD || BC A) AD || BC
AO _CO g 20 _€0
B) Do ~BO ) DO " BO
AO_CO 0) 50" oo
C) Bo DO
AB AO
AB_AO °) bc~bo
D) bc " po
16. Disapointontheside BCofatriangle | 16. D iy ABC # ot BC vt w foig 3@
ABC such that |ADC =|BAC . Then yHR & 6 |[ADC =|BAC , 4t
A) CA2=CB.CD A) CA? =CB.CD
B) CB2=CD.CA B) CB2 = CD.CA
C) CD2 = CB.CA C) CD2=CB.CA
D) AB2? = BC.CD D) AB2 = BC.CD

c 3vD
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17.

18.

19.

A fraction becomes % when 1 is

subtracted from the numerator and
it becomes -} when 8 is added to its

denominator. The fraction is

S
A) 12

5
B) -3
12

12
C) 5
12

D) -

If the product of two consecutive
positive integers is 306, then the
integers are
A) 16,17
C) 18,19

B) 17, 18
D) 19, 20

Roots of the equation
J2x2+7x + 52 =0 are

A) —j’—E,—JE

B) --\%, V2

C) —%.—JE

D) 75_5\/'2'

17. aaaimﬁﬁmmm%a’rqa;ﬁa%

A T w8 IR W %ﬁraﬁﬁ%l
fim

18. T} & whF UATHS QU i PFAGA

306 &, i Ui &
A) 16, 17 B) 17,18
C) 18, 19 D) 19, 20

19, T 2x2 + X + 52 =0 &

T8

A) %,—Jﬁ
5

B) ~ 75 V2

C) —75—5.—

D) —J%JE

2

3VD



20.

21.

22.

23.

24.

Centre of the circle passing through
the points (6, — 6), (3, ~ 7) and
(3,3)is
A} (-2, 3)
C) (3.2)

B) (3,-2)
D) (2, 3)

If15cotA=8thensec Ais

n %,
B) %5
o) 7%

D) 158

2 tan? 45° + cos? 30° — sin2 60° is
A)O

B) 2

C)1

D) V3

tan 48° tan 23° tan 42° tan 67° is
A) O
B) 2
C) 1
D) V3
COSA , ‘I+sinA=
1+sinA  cosA
A) 2sec A
B) 2 cosec A
C)1+sinA
D) cos A

Page No. 8

20. (6, -6), (3, —7) 3 (3, 3) Frgait A e
TS I I g

A) (-2, 3)
C) (3.2)

B) (3,-2)
D) 2.3)

21. af¥ 15cot A=8 disec AR

A} %7
B) %s
C) 178

D) '%

22. 2 tan? 45° + cos? 30° — sin2 60° &
A) 0
B) 2
C)1
D) V3

23. tan 48° tan 23° tan 42° tan 67° &
A0
B) 2
C) 1
D) V3

cosA  1+sinA_
1+sinA " cosA
A) 2sec A

B) 2 cosec A
C)1+sinA
D) cos A

24.

- 3VD
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o5 From a point Q, the length of the 25 gAY, TN wul Y i S
tangent to a circle is 24 cm and the o4 2RI QA 252
distance of Q from the centre is 25 cm. 2 |§H#ﬂ?€n%

The radius of the circle is

A) 12 A) 12
B) 7 B) 7

C) 12.5 C) 125
D) 7.5 D) 7.5

26. Two concentric circles are of radii o6. 3 T gu 5 4., 3. freaat
5 cm and 3 cm. The length of the a‘w%l?@qﬁﬁwﬁﬁmﬁ@@lﬁiﬁl
chord of the larger circle which = el 8
touches the smaller circle is
A) 8 cm A) s .

B) 2.cm B) 2% .Hi.
C) 5cm C) 5T ..
D) 3om D) 3v..

27. A chord of a circle of radius 10 cm 7. fsar 10 3.1, I T 99 I T 1R
subtends a right angle at the centre. T R S ¢ | € 21 1 S &
Area of minor segment is
A) 27.5 cm? A) 27.5 @2
B) 27 cm? B) 27 &.41.2
C) 28 cm? C) 28@.#1.2
D) 28.5 cm? D) 28.5@.1.2

c D 3o



28. Area of the triangle whose vertices
(=5, -1). (3, -5), (5. 2) is
A) 30 sq. units
B) 31 sq. units
C) 32 sq. units
D) 33 sq. units

29, (1+tan9+sec9)(1+oote—oosece)=

A) 1
B) 0
C) 3
D) 2

30. Sum of the areas of two squares
is 468 m2. If the difference of their
perimeters is 24 m sides of the two
squares are

A)6m,9m
B) 18 m, 27 m
C)12m, 18 m
D)3m,4m

31. The sum of the third and the seventh
terms of an A.P. is 6 and their
product is 8. Sum of first sixteen
terms of the A.P. are

A) 20
B) 48
C) 24

D) 10 D} 10

[N

28. 39 fnge 1 deer o i (-5, —1),
(3,-5), (5,2) &
A) 30 T gl
B) 31 & g
C) 32 =if g
D) 33 =i 318
29. (1 +1an 6+ sec6) (1 +cot&—cosec 6) =
A) 1
B) 0
C) 3
D) 2

30. 3t 9l & STl a AT 468 .2 2 | 9R
3% URTGT 7 o 24 Hiew & | it

=g §

A) 6t 9.
B) 1871, 27 .
C) 124, 18 1.

D) 3., 471

31. Tk auTaT Avft F die o g s Hmr A
6 & 3R U 8 B | e Avit 3 wom
e 9el A

A) 20
B) 48
C) 24

3VD
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32 o sA"gulab jamun contains sugar.syrup

gupto about 30% of:its volure.f each

' -gulab jamun is cylindrical with two

_ h_emlsphencal ends with-length 5 cm

Hid diameter 2.8 cm. Then syrup
thatuwould in 45 gulab jamuns is

A)1338 cm3
e ;3)9330 .cm3

-s-}'i.. b h,

A fC)r348 cm3

_;i‘rj 3

f?;ﬁ;ué’i-ﬁ) 340[cm3f' -

J.

o _:T- . "AIéTr“ﬁe‘ltedf_ hd recést into.the; shape

- -I"{iof.a':cyhnderiqf radius.6.cm. Height

'F‘ofgthe cylindsr is -
.A)3274 cm '‘B) 3cm
A ICy 3B

‘D) 4 ey
DT T B
34. The slantRéight of & ffustrum of a
cone i§:4'cm and the circumferénce
of iits circular .ends are 18 cm -and
6 .¢m curved surface- area lof the
frustrum is '
A) 24:cm?
- By 4gem®
Fys C) 12 cm2 , . H |
D) 60 cm2 | )
35. The sumi.ofthé probabilities of all the
elementary events‘af.an experiment is
A) 1 " B) O

1 LT3
3 2

e - -;' Page No. 11

32, U T A § 39F A i 30%
=R | AR TAF T S AR
B Rorereht wiang 5 4.0, i 2.8 9.ft, =
T & i wf SR | @ 45 TaE
g o feaet =rer e € ?

A) 338 @.#1.3

B) 330 §.#.3

C) 348 a3

D) 340 &.#.3
33. = 4.2 4. 1o ancefias e e
T & 3k 6 /.1, it s 9 o Ao

&t T F [T TR ) e A
o ?

A) 2.74@:_.1=ﬂ. B) 3&.4.
C) 353 D) 4%

34, v 3 o o R herd 4 270, 2
311 T6% IHIHR B h 9fET 18- 3.4
dkeud ¥ I e H TS A ®
A) 249 .31.2
B) 48 &.11.2
C) 12@#2 .. -

‘D) 60 1.2

as.wm%mﬁaﬁ#mﬁaﬁ
TiREas FT AT R

A) 1 B) 0
1 3
C) 3 D) 2

3VD




36.

37.

38.

39.

If the zeroes of polynomial
x3-3x2+x+tarea—-b,aa+b

thena—-b,a,a+bare

A) -1, -2, -2
B) 1, v2,-v2
C) 1,42, 2
D) 1,-v2, -2

The pair of lines 5x — 4y + 8 =0 and
7X+6y—9=0are

A) Parallel

B) Perpendicular

C) Intersect at a point
D) Collinear

Half the perimeter of a rectangular
garden whose lengthis 4 m more than
its width is 36 m. The dimensions of
the garden are

A)20m,16m
B) 5m,4m

C)14m,18 m
D) 4m,36m

Five years ago, Nuri was thrice as
old as Sonu. Ten years later, Nuri
will be twice as old as Sonu. How
old are Nuri and Sonu ?

A) 40 yrs, 20 yrs
B) 50 yrs, 30 yrs
C) 60 yrs, 30 yrs

W IR

36. It wgEE X3 - 3x2 + x + 1% Y a-b,
a,a+b® Ma-b,aa+bd

A) -1,-42, -2
B) 1, ¥2,-2
C) 1. V2.2
D) 1, -2, -2

37. X@Rii 5x -4y + 8=03M7x+6y—-9=0
FgmE
A) GHMATG
B) w&ad
C) & fig mwfe=adt
D) it

38. TEH AFAER Al R TR geeh!

e @ 4 . il &, i afwrd = e
36 . 2 | = A foond €

A) 204, 16 1.
B) 571t., 4.
C) 14 1., 18 #i.
D) 4., 36 .
39. wiw oy g, i i oy Hi Y Hi
o off | 10 39 v, L A NG AR

arrg it S St | T ST H R Y
R ?

A) 4094, 20 =9
B) 50 =, 30 I
C) 60 =4, 30

D) 50 yrs, 20 yrs D) 50 =¥, 20 T4
3VvD



e e L TR, .

a0 e

- HE DY yéars

\Alt'

éum of ‘the recnprocals of

T 'R%h‘man’s ages 3 years ago and
'J.i.‘ .

- -._.-::‘,..5“ye.ars from now is % then his
‘present age is
A) 5 years
B) 6years
‘C)-8 years
NP NN

a1 ‘Valué ‘iitofor fhie:equation

ot (x= 2) #6=0- havmg ‘wo.equal
roots.is.

M4, ..
By 6 .
D) 24 T

42. Which!of’th'e'.foll.owmg“ isan AP.?
A) 2, 4, 8, 16,.. |
B) <10; =6; -2, 2,..
C) 02,022, 0.222, 0.2222,..
ETO), 88, BT v

EEEERRA el Sl

43: 30‘htermoftheAP 1074 .is

’A)—-74

40. T it i 94 94 9 vid 99 g9 6 g
asagc—m"q’iammaaa 2, Az adnm

g R

A) 5T

B) 6 a%

C) 8 a¥

-D) 78

41, TR gt arel TEfERT kx (x - 2) +

Fmksam e

A) 4

B) 6

C) 0

D) 24

6=0

42. Fafifga 44 FA-H v a3 & 7

A) 2, 4, 8, 16,...
B) -10, -6, -2, 2,...
C) 0.2, 0.22, 0.222, 0.2222,...

D} 1,3,927,..

43. gaiR A 10,7, 4,... W30 TR
A) —
B) —
C) -
D) -

3VD



44.

45.

| AABC ~ A DEF and their areas are
‘64cm2and 1 21 cm?2 respectively and

. "IEF.=15.4-cmi then/BC.is
A) 8

B) 15.4
C) 11.2
D). 88

If ABC is an equilateral-triangle of
side 2a then:length of its altitude is

- A):4a. -

46.

47.

‘B)-8a

C) V2a

D) V3a

‘Point on the x-axis which is equidistant
from (2, <5) and (-2, 9) is

B) (0,-7)
C) (7, 0)
D) (0, 0)

Coordinates of the points of trisection
of the line segment joining (4, —1)

- and.(=2, -3) is

A (-7%9)(-%:2)
B) (1,0), (0, 1)
C) (0, 0), (2, 2)

D) (0.-74).(2-%)

I G

44, IRk A ABC ~ A DEF 3ik 373 8%t
w64 8.2 ol 121 0.2 § ok
EF=15431f. 8, ABC?

A) 8
B) 15.4
C) 11.2

D) 88

| 45. aR ABC t= wwag e & et gen

e, oI
A) 4a

B) 3a

C) V2a

D) Jsa

46. x-¥14 W T8 fog s (2, -5) 3R (-2, 9)
ERLIE RGeS
A) (-7,0)
B) (0, -7)
C) (7, 0)

D) (0, 0)
47. (4,-1) 3R (-2, -3) & Aed TAGEE
¥ mﬁm\'ﬂ-ﬁgaﬁ ¥ Pdwim €

~ (750 (-%5:2)

B) (1,0), (0, 1)

) (0.-74)-(2-%)

. PageHo 14 ' 3VD
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48. The angle of elevation of the top of a
tower from the point on the ground,
which is 30 m away from the foot of the
tower is 30°. Height of the tower is

A) V3m
B) 10¥3m
C) 10m
D)3m

49. The angle of elevation of the top of
a building from the foot of the tower
is 30° and the angle of élevation of
the top of the tower from the foot of
the building is 60°. If tower is 50 m
high, height of the building is

A) 294m

B) S%m
3
C) 16 oM

D) 1623m

50. How many tangents can a circle
have ?

A) one
B) two
C) infinite
D) zero

48. HHR % 7 it T R @ fiig, Rradhy
W & SR A 30 307, 3, FIRAF
30° 2 | R i S 2

A) 3 1.
B) 1031,
C) 10.
D) 3.

49. HIFR 3 IR A U % ¥ & SHE
30° 3 3R TR % MR HAR 3 iy
I I 60° R | AR AR 50 sft. S
R, @ A i dm @

A) 223 T,
B) 324 .
c) 169 .

D) 1624 sft,

50. T 3 it it el Yard & w7
A) &
B) &
C) ¥4
D) i@

c " Page No. 15 3D



PHYSICS

51.  An electron enters g magnetic field

52,

53.

at right angles to it as shown in the
fig. The direction of force acting on

i)
witferes forma

51. Qﬁﬁﬂtﬁ?ﬁaﬁﬁmm@ﬁa
8 T TR T i B & | TR

the electron will be T AT o ) R ant
+ Electron 4 FIH
Magnetic field T 87
A) to the right
B) to the left 2)) :é$
C) out of the page C) 78 A amm
D} into the page D) %5 % it
At the time of short circuit, the ) f
current in the circuit 52. W wfde % wr, wite § forga
A) reduces substantially A) Tga: FH ST R
B) does not change B) uiafda 98 et
g; increases heavi:y C) sreafrs aaeft &
vary continuous

i Y D) TR Seewdt &
100 J of heat are produced each
Second in a 4.Q resistance. The 53. @F 4 Q ufadus o 100 J T 9y G
potential difference across the JeuTfew Bt & ) siferters 3 fyvaior 2
resistor is
A) SV B) 20v A) 5V B) 20 V
C)1iov D)ov C) 10V D)oV

oo 10 s
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54,

55.

56.

57.

The human eye can focus objécts at
different distances by adjusting the
focal length of the eye lens. This is

due to

A) Astigmatism

B) Accommodation
C) Near-sightedness
D) Far-sightedness

How much work is done in moving a
charge of 5 C across two points having
a potential difference of 10V ?

A) 50 J B) 0.5J
C) 2J D) 0

Resistance of the conductor
depends on

A) Length

B) Area

C) Temperature
D) All the above

The resistance of a metallic rod
of length 1 m and radius 20 cm
is (given resistivity of the material
rod =2 x 1078 Qm)

) 2x10%Q
T

B) 22x10%0
T

C) 541070
n

D) 221050
EL

n
Page No. 17

54, T 3 370 o i BieE gl i
w@ g fafim il w gl =t @
THAI R | 98 FFROIERATE |

A) gfedw
B) ¥AMEISH

C) Freregfeedin
D) Fgfed

55. 10 V % faim @ figed % i
5 C %G AR R A A F B e &

A) 50 J B) 0.5J
C)2J D) 0

56. T FATASH 1 NfoH T fnft
wAE |

A) §aT
B) &a%d
C) w9uH
D) 3w anft
57. 1 # & ward 3l 20 ot i B

= i o8 w1 9oly (835 % & @I
wfedremrar = 2 x 1078 Qi)

A 2x10%0
T

B) 85 10%q
n

c) 2x107%0
T

D) 22 10%0
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28.

59.

60.

A lens with power —2D indicates that
the lens has

A) Focal length of — 0.5 m and is
concave

B) Focal length of — 0.5 m and is
convex

C) Focal length of — 2 m and is
concave

D) Focal length of — 2 m and is
convex

No matter how far you stand from
a mitror, your image appears erect
and the image distance remains
same as that of the object distance.
The mirror is likely to be

A) Plane

B) Concave

C) Convex

D) None of the above

An object is placed at a distance
of 10 cm from a convex mirror of
focal length 15 cm. The position and
nature of the image is

A) 30 cm, in front of the mirror,
real and inverted

B) 30 cm, behind the mirror, virtual
and erect

C) 6 cm, behind the mirror, virtual
and erect

D) 6 cm, in front of the mirror, real
and inverted

Page No. 18

58. 2D wfeq &1 uw oiw ewfar & £ 39

i
A) B8 g ~ 0.5 Tt § o 77 otaa 2

B) W gl - 0.5 aln e sawi ¥
C) B glt — 21t ¥ ol 75 smaeT &
D) RFagli~2 M § slagaa @

59. 6 1§ Weh el g 3 319 qdur d et

@S, e Sffe dher stsffa H
RESCEEEC R R G

A) G
B) ¥aae

C) 9«

D) Iutiea & & IS 7

60. T =g 15 it ) Fiopw it a1 O 3w -

o & 10 Fft Fit gt vt B | wfofem A

feufa o wpfer @

A) 30 9}, 9dvr & T, SRt oik
3ee]

B) 30 oY, gdur & 18, amyret 3k
i

C) 6 o, zdwr & i3, ammet ok
e

D) 6 i, gy 3w, i ok
I
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61.

62.

63.

When object is placed beyond the
center of curvature of a concave
mirvor, then the size of the image is

A) Enlarged

B) Same size

C) Diminished

D) Highly enlarged

A ray passing through the principal
focus of a concave mirror after
reflection

A) Will retrace the same path of
incident ray

B) Will reflect obliquely

C) Will emerge parallel to the
principal axis "

D) Will appear to diverge from the
principal focus

The larger value of absolute refractive

index in the following list of materials .

are

A) Fused quartz
B) Rock sait
C) Sapphire
D) Diamond

B1. S W 9% T T STaae SU0 F T
F3 % S Te oen ¥, @t 3% wRfim
TR BT &

A) w1 gaT

B) @uM

C) &1

D) atcafere agt gl

62. U Iraac 2401 F TOF BiEE & ToRd g8
fotor wrada F W

A) mfer 3 & @ 99 W amE
st

B) fort mmafda wrft
C) WY & % FHHIG 39

D) YU wiFE & feard g8 wia
it

63. verdl < Fraferfaa gt & gt styedas
w1 Alraq A 8

A) AR FEes
B) da1 T
C) Hem

D) ¥

paye o 1o I aw




64. Find the total resistance in the
circuit.

Ri1
e AMAA

_,{ —->—M/;\:— v
®_

\
Y
N

Ry=50,R,=20Q

A) 180 B) 14Q
20
C)16Q D) ?Q

65. The phenomenon of production of
induced current in a coil placed in
a region where the magnetic field
changes with time is

A) Lorentz force
B) Electromagnetic induction
C) Eddy currents
D) Jouie heating

66. Which of the following is a non-
conventional source of energy ?

A) Fossil fuels

B) Hydro power plant
C) Thermal power plant
D) Solar energy

|
84. affe § g vty wia hifdr |

R
- A
I _)_MAN\__ ~J’
p— Re
i "
®
A Ra -
R
5

A) 18Q B) 140
20
C) 16Q D) 70

65. T % WY Yo 8T Tee el T 89
H Th el bl T A g forga & seareA -
Fr qitgeT &
A) qi s
B) fergagershia Seia
C) TSt yrrd
D) 3§ S%H
66. F=fifga i @ FF-a1 o= ot -vimma
e
A) 93 S
B) stet ferega @
C) oty it waF
D) ¥R S
3VD



CHEMISTRY

Sodium hydroxide reacts with zinc

T

67. QifEam esgiauss i & ary afvifsman

d liberates
an a1 ? 3R e T § |
A) Hydrogen
) A) BTESIH
B) Oxygen B) afiaeliee
C) Sodium C) wifsaw
D) Carbon D) S
68. MnO, +4HCI - MnCl, + 2H,0 + X, 68. MnO, +4HCI - MnCl, + 2H,0 + X,
where X is o
@i X ®
A) O, A) O,
B) Mn B) Mn
' C) H, C) H,
D) CI
D) Cl, ) Clp

69. e AR & AacT T e &

69. Decomposition of Silver bromide is
an example for

A) Exothermic reaction A) FSiicast s

B) Endothermic reaction B) Sredarsiret srfrfsean

C) Precipitation reaction C) srgamu fifsmm
D) Tafereerem arfifeean

D) Double displacement reaction

c 3vD




70.

71.

72.

73.

2 PBNO;); —2— 2 PbO +4NO, +0, .
Here X is

A) Ni

B) H,S0,
C) Heat

D) Sunlight

Gilucose combines with O, in the
cells of our body and provides
energy. This reaction is called

A) Combination
B) Respiration
C) Digestion

D) Combustion

Bronze is the alloy of
A) Cu & Sn
B) Cu & Zn
C) Pb&Sn
D) Cu&Pb

Formula of washing soda
A) Na,C04.10H,0

B) Na,CO4.5H,0

C) Na,CO,.4H,0

D) NayCO,4

70. 2Pb(NOs); —X—52PbO +4NO, +0, .
T|X B

A) Ni
B) H,SO,
C) s

D) o

71. R R YRR A PR 0, F
1Y G B B8 i1 Yo T 21 98
AP Feard §

A) GET
B) va&d
C) ur=

D) @&

72 frfuyemgd
A) Cu 3R Sn
B) Cu 3R Zn
C) Pb 3t Sn
D) Cu st Pb

73. g WS R g R
_ A) Na,CO5.10H,0
B) Na,CO4.5H,0
C) Na,CO4.4H,0

D) Na,COj,
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74,

75.

+ 76.

77.

78.

Aqua regia is a mixture of conc. HCI
and conc. HNO; in the ratio

A) 3:1
By1:3
C)2:3
D)3:2

Chemical formula of cinnabar

A) HgO

B) Hg,Cl,
C) HgS
D) HgCl,

The process of heating a substance
in the absence of air is called

A) Calcination

B) Roasting

C) Evaporation

D) Thermit reaction

is added to Pickel as
preservative.

A) Vinegar

B) Acetic acid

C) Glacial acetic acid
D) Baking soda

Sweet smelling compound among
the following is

A) Diethyl ether
B) Diethyl ester

C) Ethanoic acid
D) Propanoic acid

74, wERfE ifsa HC iR @ifsa HNO, #1
% o7gura | e

A)3:1
B)1:3
C)2:3
D) 3:2

75. T (Regy) =t ot g 2
A) HgO
B) Hg,Cl,
C) HgS
D) HgCl,

76. arg i rgufeafe § faret ward =t mi w1
& whimar Feerdt ®

A) Feaa
B) s
C) A
D) s arfifsman
77. _ wyEmuivuEsE S wvd
SETIEIR |
A) fert
B) wRifes svw
C) ™R Wl ova
D) sfém drer

78, i & o) i 2 e AP &

A) ST $;
B) SEFUTEA T
C) 3oIE I
D) WATsH 3

3vD




79.

81.

82.

83.

The element which is sonorous
A) Aluminium

B) Gallium

C) Selenium

D) Sulphur

The metal which possess very low
melting point

A) Sodium
B) Potassium
C) Lithium
D) Caesium

Nature of CuO is
A) Acidic

B) Basic

C) Neutral

D) Amphoteric

Amphoteric oxide is
A) ZnO

B) K,0

C) Na,O

D) CaO

The metal which reacts with .cold
water

A) Pb
B) Al
C) Fe
D) K

79. 9% W St AR |
A) TepfitEm
B) fferm
C) dafrm
D) ¥R

80. % =g RraeT TeimIE odd e 8
A) wifeaw
B) Wefimm
C) hftrm
D) Hifmn

81. CuoR wafi ?
A) g
B) &g
C) SeE=
D) 3wt

82. Jvaenff sitass B
A) ZnO
B) K,0
C) Na,O
D) CaO

83. 98 g i Siiaw 1 & | AffRn
EoGif

A) Pb
B) Al
C) Fe
D) K
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5 BIOLOGY | ]
o ggr?e:aa::\sd c:rgtr:r:llsegeg yfrcs:pmec:::g 84. 3 v it faftre < & TRy Frifie o &
generation to other is 3k T it A gult it A Ry
A) Acquired trait A) Wﬁ"ﬁgﬂt
B) Inherited trait B) STgefirs o
C) Dominant trait C) vt o7
D) 3t u

D) Recessive trait

85. An animal having rudimentary eyes 85. Fmafefan o ¥ frw St it sreafawle

among the following A@E?

A) Octopus A) TRTH

B) House fly B) e #ee
| C) Cockroach C) =

D) Planaria D) iR

86. The scientist who gave the theory of 86. 3y =1 fogia fra s AR 7

evolution is

A) Harold C. Urey | A) Bies Wt |

B) Charles Darwin B) Iy g

C) J. B. S. Haldane C) 3. . T, e
D) Stanley L. Miller D) ®7 . fieer

Page Mo 25
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87. Where are the reproductive parts of
angiosperms located ?

A) Fruits
B) Seeds
C) Flower
D) Root

88. Which trophic level do pesticides
enter the food chain ?

A) Producers
B) Herbivores
C) Carnivores

D) Top carnivores

89. Energy derived from food we eat is
stored in our body in the form of

A) Glucose
B) Starch
C) Glycogen
D) Glucagon

80. Which of the following are responsible
for the opening and closing of the
stomatal pore ?

A) Epidermal cells
B) Guard cells
C) Chloroplasts

D) Nucleus

I W
87. Iamehfsml i Jorm s FRi fRa B g ?

A) %
B) sftw
C) g
D) g1/

88. foru i W W Fef ER Faen
Aufreaad?

A) IqEH
B) SmeRTeRl
C) wiamert
D) fief wiamerd

89. TR & G "] ¥ieH & fichamh 3= e
el FETH anfRa Bt B

A) ThiE
B) W€

C) TgehisH
D) wihrH

90. ¥ 1 & % % g it e 8 & forg
Frafiiea & @ FF SoEH 2 7

A) FRIEEE FfRT
B) T ¥

C) F=e

D) %5
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91. The insertion of Copper-T in the
uterus to prevent pregnancy falls
underwhich category of contraceptive
methods ?

A) Surgical method
B) Barrier method

C) Intra uterine contraceptive
device

D) Chemical method

92. Which category of organisms forms
the stariing point of a food chain ?

A) Secondary consumers
B) Herbivores

] C) Producers

D) Tertiary consumers

Amoeba takes in food using
temporary finger like extensions of
the cell surface known as

A) Flagella

B) Vill

C) Pseudopodia
D) Cilia

94. Which of the following reproduces
by multiple fission ?

A) Bacteria
B) Plasmodium

C_) Yeast
D) Amoeba

91, miuRY F Vg T Y TR F HER-E
e iR Ritet f fee Aot

g ?

A) wreafian fafe

B) vy faf¥r

C) iau mviy™ MR yorelt
D) TamafAe fafdr

92, Sfial ®1 HA-T1 T @ AR FE@AT H
st fig @ ?
A) fiefaes s
B) TIeERY
C) SEH
D) qeftaeh Iusie
93. ardften FINEH TS F el Seh

TS S TANT A §E M T T
 frdt ed €l

A) ISR

B) g (freTie)

C) urem™ (ggatfean)
D) st (fiferam)

94, Prerffiae i & S wgee T T EE 7

A) Sfarg

B) wiwRIfeaH
C) #ie

D) atdtan




95. The amount of energy that will be

96.

97.

available to big fish in the food chain:
Small Algae — Zooplankton — Smali
Fish — Big Fish, if 10000 J of energy
is available to small algae from the
sun is

95. Ift g 4 Sk Fa% il 39y =1 10000
2, 0, BR Fawh o JEFRA — B TSE
— 7 el STER sy i gt e 7
Iqerse FHell bl qTT Bl

A) 1000 J
B) 100 J
C) 104
D) 0.1J

A) 1000 J
B) 100 J
c) 10J
D) 0.1J

The dialysing fluid used during
dialysis is devoid of nitrogenous
wastes but has the same osmotic

96. anfigr ¥ Ao wgaa T fieh 9 F TR
sTafire Ef B g SHHT WA F

pressure as
A) Urine

B) Blood
C) Lymph
D) Water

Which of the following statements

are not correct ?

A) Basic event in reproduction is
the creation of a DNA copy

B) The DNA in the cell nucleus
is the information source for
making proteins

C) Two copies of the DNA are
made in a reproducing cell

D) Evolution during reproduction
is the basis for variation

FAAA BT |

A) T
B) W@
C) e
D) v

97. PR Y SIR-T A A T

A) Yo § e Tt g sty
&1 Fmfor g

B) Fif Fxh # G W TR
F e gEn s Eh g

C) T Faea Hifkem # e Al
2) Rt & sl

D) oA % S faee Rfeaa =
YR &

a



T

98.

99.

100.

Hormones secreted by which of
the following gland are respongible
for people who are either dwarfs or
giants ?

A) Thyroid
B) Hypothalamus
C) Pituitary
D) Adrenal

Which among the following is the
product of fertilisation ?

A) Gamete
B) Pollen grain
C) Zygote
D) Embryo

Gregor Johann Mendel was bom in
the year

A) 1822
B) 1832

C) 1852
D) 1884

98. Frafafga & @ fre ¥ % T wnfym
TR AN % o i Remesm it H i
JuEEt R 7

A) TRizE
B) TGS
C) Jigy

D) ufg=

99. fiafafae & FR-ar s wrsaEd ?

A) THH
B) W
C) g
D) ¥

100. IR i+ dsa 1 59 a8 L
g

A) 1822
B) 1832
C) 1852

D) 1884

3VD



Answer Key 3 VD (Set-C)

Q. No. | Answer Key Q. No. | Answer Key
1 C 51 C
2 B 52 C
3 D 53 B
4 B 54 B
5 C 55 A
6 D 56 D
7 A 57 B
8 D 58 A
9 B 59 A

10 D 60 C
11 A 61 C
12 A 62 C
13 A 63 D
14 B 64 B
15 C 65 B
16 A 66 D
17 A 67 A
18 B 68 D
19 C 69 B
20 B 70 C
21 C 71 B
22 B 72 B
23 C 73 A
24 A 74 A
25 B 75 C
26 A 76 A
27 D 77 A
28 C 78 B
29 D 79 A
30 C 80 D
31 A 81 B
32 A 82 A
33 A 83 D
34 B 84 B
35 A 85 D
36 B 86 B
37 C 87 C
38 A 88 A
39 D 89 C
40 D 90 B
41 B 91 C
42 B 92 C
43 C 93 C
44 C 94 B
45 D 95 C
486 A 96 B
47 D 97 D
48 B 98 C
49 D 99 C
50 C 100 A




